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Level Up Your Korean: New Transcription Format
To enhance your Korean language learning experience, we've decided to provide more

authentic/original Korean transcripts starting from Lecture 18 (Unit 3) onwards. While
English romanization will still be included for reference, we encourage you to prioritize
reading and understanding the Korean script directly.

Here's a tip: Start slowly and gradually increase your reading speed. If you find it
challenging, we recommend reviewing your Hangeul lessons.

Remember, learning a new language takes time and effort. You can do it! Keep practicing

and stay motivated. o2& & 4 lo{Q! mto[&l!

o2& (yeorebun), {FFotHIR.} |, FHoll(yeope) ol
AR, 2 EZ0f(oreunjjoge), 1, 2, YZE = (0enjjogedo),
ohg, Qhd, 4, 22] NPTEL ZItof|A] QIAIHR. Two versions,
right? A]2F QRISIHIR. 913, With your big smile. A,
ZOmMA(useumyeonseo), Y|, £0t8, 252 252, H(3) I 4
1}, Unit 3 gongbuhaeyo. Unit 3 HiYR. Unit 3, 4 2t
AZGemolge] HolR? BIoIE BHlR. & ¥ o, GolS
28,

Today we'll cover Speaking 1, B5}7| &d}7] 1 and Grammar & Expression. 3}7]5t1, 21} 38 FJH3[Q.
Okay, so let's watch this small video clip about our speaking 1. “AE|E2 ] 2|2 R FHol| Q. 0l2|3 K=
Hel 22 A= Mg Qloj.. gh=o] MG glojerof] e, d2oj A3 gloja "t o “AE|R K|, 2|3 Hal? FRML.
02|32 K= Hall2? A= S gloja. gh=xo] M2 ¢jo] a2 oh]e, d2of A2 2joj2." OK you got the idea about
this? 4], 4], okay. So, first line. AE]E2 #|, |3 #3272 In English, Fo12, Go|Z Hal|Q? AE|E ¥, 2] Z W22
{Steven, what are you doing?} What are you doing now? A& %=, now now, okay, second line. 353} 2.
0}2]2 K& #3272 {I am studying.} 1 am studying. Mariko? What are you doing? OK, O}2]Z &= 522
e e Ax, okay, A= 2 0|2, A= A2 90|2. {I'm reading a book.} I'm reading a book. That’s right.

I'm reading a book, okay, okay. Microphone is there. $+=0] 3 9]o]Q? {gt=o] AE QlojQ7! This is a



question. G2, {Are you reading a Korean book?} That’s right. $+=0], 0] means language. °I-|2, No.
Yol G QlojQ. YEo| A Japanese book. {Japanese book}. Japanese book. €£0|, 0], language, okay,
YEo] MG 9lojQ. FO|=2, No, I'm reading a Japanese book. That’s right. U], Zglo]Q.

OR[Z AE2 A, 23 9 sH? Mariko What are you doing now, Steven?
22 - Of2|2 M= 7 s Steven 1am studying. What are you doing, Mariko?
ol e . .
Il = Mariko 1am reading a book,
AElE B30 4 goje? .
Steven Are you reading a Korean book?
o2 oL, =3

Mariko No, | am reading a Japanese book.

Now I'm going to show you the English translation here. So try to translate this English version into Korean,
okay? OK. Yeah, are you sure? Can you do that? Yes, yes. OK, let's try. Let's try. Now I'm going to say it
in English and you say it in Korean. OK, you are a translator, interpreter now, okay? What are you doing

now, Steven? {Steven A, A|2 H&L?} Oh, very good. AE|E A= Z|Z H5) 27 I am studying. What are you
doing Mariko? {ZH32. 0}2]2 K= Hall?} W22 1am reading a book. {A= A& gloj_ .} {(AHE Qloja )
A Qlojg, AE QlojQ. Very good. M2 90| Are you reading a Korean book? {§H20] A2 ¢lojQ2} No, 1
am reading a Japanese book. {O}L]f, Yo} AZ gloj_ ) 90|, gloj], dEo HMZ Qlojg. 2 ZAdo|e,
AdojQ | very good. OFF AZIELICE Now we will listen to it again with an English version. “AE|2 ¥ 2|2
Hele? FEeL. ni2]2 N Hel’? A= A2 9o, gh=o] A2 gloja? ofi]e, 20| S glojR." OK, let’s
listen to it. “AE[2 X, 2|F Hli? FHML. 0j2|2 K= HollQ? A= WS ¢lol.. ghzo] AZ ¢ojg? ohg,

Qo] 2 goja.”

9512| (Speaking) 1

2|of

OK now let’s try our version. This conversation uh, this

conversation between Riya and Sumit, okay? Indian
names’re here, right? They are actually my previous %8l
students' names. Riya and Sumit, OK. 48l A Z|Z 2|0
Hal2? £8 A, jigeum mwohaeyo? OK I am Riya, you 400
are Sumit, Sumit. Let’s go. £8 |, 2|2 #5272 {(FH Q. 2|0}
2lo} K= Heler) Ae A2 gol. (Y& HE ¢lojrr}

ofL]Q, ko] A2 QlojQ OK? Now you are Riya, I am e

Sumit. £8 A, X|F HalilR? (£ A, X|F..} OK, sorry, sorry, joesonghamnida, Z]$ZLICt okay. Now your

turn. 5 A, 212 Hall82 A2, (28 K, 2|2 Holl’?} S5 _(gongbuhaeyo). 2lot A= Ha8? (A= B



2oj8 ) dEoj A3 9lojQ? (o] R, §H=o] MZ Qlo]] ). Yes, very good. 3HF0] M2 glojQ FotQ |, Agh&L|ct,
This is number one.
Number 2, number 2, we have 2&93}T}, undonghada, F3HEL}, 25Tt yeonghwaboda, 0]= G3t, Q1= F3}.
So how can we conjugate undonghada? &9t} {502} 2olQ. OK. Instead of gongbuhaeyo (F53[ L),
we can say >&0ll&. That's right. T} 20|, &&3}} (2588}, THA], 250t {5312}, G3HECt How about
FotHET}? G8t2 or YIS, Fot-2 or F8t-E? {FEE! 2 or 2 Which one? {&} That's right. §8}& Er},
Hr}, Bt B2 You remember this? OK. EC} ¥t B} Hr} Ble 2F5lct 538, Right? 318, 0]= Fs},
Q& g3} 0|2 Fok-g or -5 F3t, G} No B, right? & or &, {1} £. That's right. g3}, g3}-&, 0= F3}5,
QI: F3}E. Indian movie, American movie, okay, 0. Let's try. @ofQ. 4], B0} You are Riya, I am
Sumit. A2}, (B, 2|3 a2} 253K, 2lof M= Hall? (A= JSHE HHe.. bwa-yo} ¥R, Ht2. OK. o]
FetE HER? {of] 8, Q1 F3tE B8R . Okay. Let's practice. Bt8. More. Okay. &, {#}}, 2}, 28, {82}, 28,
(8tQ}, BrhEte (Hrh Bley HrhEte St o Hrt vhe v B} H} B} §} Hrh BhQ  (Er} ElQ) boda,
bwayo, {EC} B}Q} HrLElQ BtQ HQ OK. Ik F3IE Bte. AR}, QE g3tE HR. Y|, £0l2. 1 am Riya,
you are Sumit. Sumit ssi, Jigeum mwohaeyo? {Undonghaeyo... Riya ssineun mwohaeyo?} Jeoneun
yeonghawreul bwayo. {Miguk yeonghwareul bewayo?}
Aniyo, Indo yeonghwareul bwayo. °}, Y], Z{3lo|L, ZjFlojQ.
2|0} A0 R, 212 2] 5197 | ), A= F3}E H.. 4|, okay. This is number two. °|(2)
| Holo 2. {What is undonghayo?} 2, 2%32 okay,
252 = Foj= HoQ, of2{E? {Exercise} exercise. 2o} Q.
Exercise. You forgot. Yoj#{310]22? OK. 258, £ol8,

29 25, 2o W& 5 s a?
2|0} |x-]h gst2 utQ.
% n] 3 %‘!}— EHL?

Zo1Q, 2588, exercise, 25 82. I am exercising. +&H L,
exercising, okay? 25902, A2, 25882, 25902, E5H8,

OK. 23908, 4|, $ot..

AF(3) ¥, 3. We have O[2H}O|ES|T} areubaiteuhada, areubaiteuhaeyo, right? 3}Ch-81Q. 8}T}-84Q. St
812, right? You remember that? 2] 22|, cooking cooking, £2], BH] 2T} H}QTL-Hi Q. @ Zglo|Q HjCh

o o [} 5} 5} - D
{HHT'IB-} baeWOYO, HHT']B-’ HH'F]-S- Z‘S_q- RE]: Z‘i_i-_g_?'_]’ \g:f'\(\',\ D}J.I'Jl(spea ) 1

Korean cuisine, okay? Z&A Q22| French cuisine, *

French cuisine, okay? £°}8, 22]-2 or R22-85? ©® &o S8 W, 2] 3 B 3187 I
(2218 228, no P, righy 278 Widle, asig T4 [chesilEsda ok slad
FEETEry |

Hj9JQ, of2H}O|E 3|2  What does that mean? {Part-time
job} That's right. To do a part-time job. OK, O}2H}O|E
e, °f§ﬂf°]E Sitt-of=2Hlo|E g8, Fot, 4|, Z3ola.

|

|
2of |z-] 24

& aﬂauﬂﬂm 4

I va L (W



E7|8, okay? You are my partner, okay? 58 A, 2|2 ¥ 8122 {o}2H}o|E 32 of. 2|oj¥|+= § 527} o} A=
L2 E iR, {of 3t 2]E 3t 22| o Bl 2} oh] ., ZFA 22]F HiYlR. {of, Y} Y], Aol v ),
Aol o] Alojg, ), of AgFLIch. |, 2 2] T} Zol, o} ZOl. You are Riya. I am Sumit, okay? 9,
A, (FBIR, 213 22} of2HIOE 82 2|of K= H 8.2 (A= 22|15 HiYR. ) 3= 825 HY L2 {Aniyo.
Peurangseu yorireul baewoyo.} U|. oF, Zglo]Q  of2{& Hanguk yorireul, Peurangseu yorireul. OK, Z&A

2215 Higle, sleth Hi9le, 3= g2], TFA g2, A, (3= 82], TFA 2]} OhA| 3H, (315 /2], TYPA

82]} ¢h3 22|, ¢ 22], OK 2018, This is number 3. .,
Pl 2017|(Speaking) 1

And number 4, number 4, number 4, Ak(4) #, AL ¥ AFH

BA|R. Sukjereul hada, {ZA|E 3Ith} To do one's @ M 201 K, 2|5 5 3187
homework, right? 4AZ slt}, 4412 #8, Tolg, th] Rl 4415 Q. 2of A= 5 5§87
#7012 oih, 4718 die, Yote, 4415 s, Pota. 17 2 |AeIFEMIL.

Rhich, P2, P12 or FL-82 (FFE} chingureul, % |SYATE IR

A1E (gt Yore, whie, SR, chingureul 2(0 op] g,

mannayo, J7E T2, OK, 5Y 3 (Dogil chingu), 272 sjc}
3h2 213(Hanguk chingu), % %1712 {German friend}, <SdSREIES
German friend. ZotQ, & €1 QlojQ, $h= 21912 {Korean friend} Korean friend. OK. §H3 213, £0t2. Let's
try. 25 K], 213 H 8122 Your turn, {FA|E 38, 2|oM & He 272} of, A& L E Thte. (52 37 E Thte?}
op g ARE Tt (o} Y} 2A0], OK. Change our roles. Uh your turn. {58 A, 2|2 #3272}, £AIE
Q. 2of A= HElR? (A& FE Thte. ) 59 LS whte? (oh e, §= XL E Thte .} 2, AgolR Eoje
jeoneun Indo chingureul mannasseoyo. A, eoje, ©/A] means yesterday. {yesterday} I said TH5t0| R, past
tense. RHLJTH-RRLEQ BHF0}Q  We'll learn about the past tense later, okay? Y], oA A= QIE 213E QhytolQ.
QI ZLE TyHo|2 | You can say OfA| A= $H= Z13E Thyto]Q, TIYtojQ. OK, that's good, here. So we saw
one(1), two(2), three(3), four(4), right? OK. So, now it's your turn. Yeoreobun charyeyeyo, %2|2 220 Q.
OK, number one, okay, let's try. Okay, there, ¥ H, & ¥, (1) ¥, & ¥, 0](2) ¥, o] ¥, o] ¥ Give it a try,
0](2) ¥, you two, you two together? Okay, ©] ¥, ©] 1. You can raise your hand and then say 48, {jeoyo}
2, okay, A, A, you know A, right? AL, #8,6 AL, 0

244 (gyosunim), 18, okay. THA A3y ¥, AH o, Yot ainpeo e EREICT T R RS

o
Say it. {8} A8, 2, Fotg, Fota, A Ak4) ¥, A, v, (O o 3R, 22 5 e

1

A

.
A

N

A
d, Z3hol 2, A ., okay, ZOIL. 49 251 2lof Wl 2 a7
20 3
a3 AW LpeAe, ¥ M LA, Student A: SPEEHAR, Ax s

Harshita YUt} Student B: QPdSHA|R, A= Satya YLt ot

Student A: AE|E & 212 HeR? Student B: FE3AL.



Student A: 2]o} N = H31 22 Student B: A}= & A& 9lo]Q  Student A: YE0] S 2lo] Q7 Student B: ofL]|R,
gl Mg goja. U, Agloje. uhg, off ZAgUALTh U, of2), Tt o], Let’s practice. 3501 A2 glojg,
Qo] g gloja, ), A3lolg, ofF Aglojg. ofF AFlolQ, jalhaesseoyo. OFF HZUFLITE. You can change

some words, okay? So please use your name and friend's name, okay?

OK ©°|(2) H, o] ¥, o] ¥.. Student A: F33AR. A= f" U5})| (Speaking) 1 y

Saga QuItt. Student B: QPFSIAIR. Z+= Vaibhav UL} A2t

AT

ONNL LIS LR EL TE |
Let's go, everyone. 3tLt, &, A, A2, Student A: £:51 4], 215 G LIRSl T
H3l2? Student B: E&318. 2|of A= H 322 Student A: A= 2[of A gt :':
Y32 B2 Student B: 02 F3}E B}2? Student A: OFL] 2, Q&= 29 (2o »
[CRPRCA R tryy

FetE Ea. Agfo|g wi4 HEL AWHO|Q | da gachi, 50018, Al
H, A 25008, 25008, 5908, and B8, B2, B8] Bt],
E}‘&a El']-‘aa El']- El']- E} EI']’, OkaY7 El']-'-

-
!

&4 37| (Speaking) 1 3y

Lt

OK, A ¥, A LtoAe 4w AW AW U] (laughing) four,

S e LR L Y |
L|ull Ak(4) W, AFH, AFH. They are confused, right? OK, 4 ... #9 o} 2u}o| EHQ, 2]of Al ¥ 82
olzHlo|E s}, ] Woch #2 ge), YA o) W sodont M [Atgd ‘
read just, you know, text, okay? Acting is needed, acting, you i ; 3. ae)
have to try to act, okay? Student A: SMISIH|2. A& |oH8, 8

Alo]AALIT}. Student B: QPFSHAIR. & Z2hbe<iuct
Student A: 481, 28 A 22 Hal22 Alo]¢? His name, his name. Student B: AO|LH|, z]Z HaiQ?
O}ZH}O|E&l|Q . Student A: TZ2FLI2H| H3| 22 Student B: A= Q2|5 Y. Student A: 3H=0] Q2|E HIYK?
Student B: ofL]Q, ZgFA Q2|5 H|PJQ. Student A: ©f, 4|. T}A], TFA], Hanguk yorireul baewoyo, not gH=0]
22|5 Hi9) 2. Hangugeo is the Korean language, okay? = Q2|E, T A7|AEE(geogiseobuteo), from
there, 3t Q2|2 HIY LK. Student A: 3F Q2|5 H{$ Q2 Student B: ofL]Q, TakA Q2|2 HiYQ U] ZglolQ,
b4, Aol g, Tizto] 3t 22], Hanguk yori, 3= 22|, 3 82], §t= @2, §h= 22|, 3= 22], 3t 82]. OK.
4], £0}2. You can also say, you know, Q& 22|, right? Q& Q2|5 Hig]Q. ofL]Q QI Q2| HiY ], Y|, Fof.
You can say it, you know, A& 22|, right? A= Q 2|5 HIY Q. T} 70|, say it together. oI, & Q2|5 HiYQ.

Maybe I have to learn, right? Indian cuisine, huh yeah? I really want to learn learn it, but you know, you
have too too many varieties, right? North Indian, South Indian, and each state has its own cuisine, right?
So, which which cuisine should I learn? {Telugu} Telugu {Tamil} Telugu or uh... {Tamil} Telugu or Tamil
uh? Punjabi.. Punjabi, okay. (laughing..) Telugu, okay. Anyway let me try, let me try. You should teach me,
anyway.

OK, Ak(4) H, 4 ¥ L}QA|R, 4 ¥ Student A: ONF5IH|R, A= T2IAQILICE Student B: OHFatA|R, A=
KRRt} Student A: 24 K=o A2 H L2 Student B: o] £A|51L. o] Z2IA K= HoL2? Student A: A=...



7 FI7E ghiQ. Student B: o] £Y
Student A: ofL]Q, 8 2171 3t XLE UhLtQ | Student B: ©F,
Y, AU W, Hgole, w4, Fgol’, Wl Thank you o, @ % [aAMAZ AN

) _ . i A |4H2 e 2oFms Helag
of...olF &gz o2{E? What do you think? 230}, 30|27 a0t . »
Adloje  230|Q7 Are you sure? Honestly? THA|, Zglo]Q, 48]
2gfolgr (Agola } AYola. OK. Th Zo| @4, y w4y

2gola.

o SE
2\
Ein)
>

£9 07 178 e 9
=2

&8 215}7| (Speaking) 1 "

Y
Y v
»

Now we will move on third grammar. OK. So this grammar item is ‘O|A’, <of|A", <of|A]>, <o|A]>. Can you say
it together with me? ‘A, <o|A}", “ollA>. Have you heard of this || restaurant? This is a Korean restaurant
name here in Chennai, right huh? oj|A]", <oJ|A}>, T} Z0] <oflA]” A]2} <of|A]> <of|A]”, <of|A> G T <of|A], “of]A],
‘o]A>, OK, ‘OA’. Somewhere, somewhere, somewhere ‘9|4, noun, noun, location noun plus ‘Of|A]’,

location noun plus ‘|4, ‘Ol attaches to location nouns indicating that an action or an event takes place

there. Got it? OK, so location noun, this is location noun,

3. . 0| A okay? Location or places. Location noun plus ‘©J|A]’. So,

Logtm ¥ O — g‘ T e%pz it's like at, on, in, plus location, okay? So what's the

& ' . . . 0
»“0l]A’ attaches to location nouns difference here between English and in Korean? Yes,

indicating that an action takes placg
there.

yes, that's right. So English is you know prepositional,
right? But ‘oA’ our ‘oA’ is like post-positional

particle, OK? Post-positional, okay? After the location
noun, we attach “OIA’. Got it? 4], £o}8, £o}2. OK.

> ‘|4’ attaches to nouns.
<o]|’ attaches to nouns, especially location nouns here,
okay? ‘of|A", T} say it together. T}20] To_, A ¥
A2, oA, (ollA}, <oflA, g T, <oflAf, {oflA]}, oflA]”, <of|A], <oflAf>. OK.

23:00/48:59

So let's see the example sentences here. OK, first one. & #Al, cheot beonjjae, A2t oA, ASThsti,
kind of location, TH&t 2, TSt means, T3t is university, okay, university. Al2tH8ta is Seoul national
university, Seoul national university. So A28t 2 ollA means at Seoul National University, okay, at Seoul
National University, at, at SNU, at Seoul National University. A2THgt-o|A], oA’ §t=2o|E, t=2olE,
gH2o]E HiYQ, Hi$} L. What is the basic dictionary form of HI¥ 22 {H]QThH OK, very good. BJC}, HiI L,
Hi 2} Hil_. OK, A 2thstw oA $t=o]E HiY)R. At Seoul National University, I learn Korean. OK? I learn
Korean. Okay, this learn, Hi$) 2. $+=0]E Korean, Korean here. T}20], say it together. A 2THSt |4 SHZolE
HiRl L. (AEthietolA 3H2olE Higl R .} okay, ASTHR oA g0l £ HilR. 3 ¥ o, (A2Thigt oA §t=olE
HiY L.} OK, Learning Korean, right? This is kind of, you know, action. Okay, this action, learning Korean

is happening where? At Seoul National University, okay. So where do you learn Korean? At Seoul National



University, Al2thg 2 oA, OK so I would say, %J2{&, o|Tt]oflA §H=2o|E HiYR? Eodieseo, ©JT]oIA? Where?
OK oft]oflA] 3t=o} & ulig] 22 A EThetwof|A] §H=olE Bl 2. But here, you can say, ITM °f|A] 3H2o} & B9l Q.
OK, TIA], oj2| &, oft|ofjA] gt=of & HiY 82 {IITM of|A] 3H=o| & EiY) 8.} Y], IITMeseo hangugeoreul baewoyo,
4], Zotg. IITM, 92| ALtoloflA, 122 IITM ALfolof gloje. IITM oA §tZolE HiglR, HLtojofA §tzojE
Hi9J8. OK.

Next one. Next one, can you read it? $JOJEA|Q ilgeojuseyo. F4OIA FSHE ElQ, BlQ, BlQ. OK. 2 A,

a2+ 224

=&, =4 is in a movie theater, cinema, right? ‘oA, 2&0]|A. OK, so, at the cinema, in the cinema, okay.

27o|A F3tE B2, FoJ2 (yeongeoro), FOI2, 2o FsE BER. I, I watch a movie at the cinema, okay?
U], 34llA] F31E HHe, 3t ¥ 5, Geukjangeseo yeonghwareul bwayo. §F H B, {F40)|A] J3}E ¥R} Hte,

Hr} ge, Brh 8o Al WRlse beonjjae), third &
(At SNU)

example sentence, A| B1A, A=, e, A= HolA, A, Ly '

Aol 8 (babeul) Hol2. A T g wolg, )+ MEHLIH BolE igla.

OK. I, Jeoneun jibeseo babeul meogeoyo, GOIZ. 1 3 @ﬂﬁ PshE Ee. .

eat, I eat, I eat meals at home, okay. 2l°|A], at home, . Z']%@Pﬂﬁ:tj? N2 o8, \§A5 3 jmﬁ
right? At home, oA & Ho|2. Bap actually o 2} A 2L =(T A wafj SHQ.

means steamed or cooked rice, right? But here bap
refers to meals or food. breakfast, lunch, or dinner,

something like that. £0}8. 2} oA ¥}& HolQ T}
Zo] AJR, A& FHollA 1S Hol g, o2& oft]ofA HE
Ho]Q7 {Mess} oA HIS HolQ, (Roj|A] 418 HojQ 1 ojr]oq 12H WojQ? of2]E by the way, where do
(haksaeng sikdang),
&k, 8}, 3, 8t This is ot right? 8, [ 2], M, 98, &4, 8H8, A Al okay, T}, TF, &, right? SH8 AlFof|A| haksaeng
sikdangeseo, SH¥ AlRtof|A #F-2 #ojQ OK, THA| $H, I'm going to ask this question again. Sj2|£, ojt]of|A]
i 5ol 27 (MY AlFollA] B2 Hol .} ThA] §H, of2]E oft]oj|A] 3 Hol e ? (S AldollA 2 HojR .} OK,
now you can ask to your friend. 1, you, you, ®{T|o|A] §} #0]? Eodieseo bap meogeo? ¥ H0]? Casual version,
casual speech. Okay, you try. ©|E]ol|A, ot|o|A], try, {o]E]oflA] B} Bo]2} Say, {oT]olA] B} Bo]?} &FAF AlctoflA]
Ho]. Haksaeng sikdangeseo meogeo, 3H¥ AlEo]A o] OK, 4], Aok ? Are you okay? Y], £0}2. 4], SH¥
AltollA|, okay, last sentence, Y] BFA|2} o] & (yemun) EA8. A2} A2}, A 1= (je chinguneun), A A, I, and A

Z132? My friends, okay? I and my friend, doseogwaneseo, EATO|A ZEAQ, EATo|A FHNQ, A To]|A?

you actually eat your meals? Mess, okay? School cafeteria, right? SH48 A%}, SHA¥ Al

At the library, library, okay. EA oA ZH|Q, F0lQ, Jeowa je chinguneun doseogwaneseo gongbuhaeyo,
NA, (12 A 17 EATOIH BRe.) 3 o, Agh A A7E EATlA BEoR, Tl A%, et A W7k
AN FRA.. 27, XS0l 2o oft|ofq FRNL? {ZAHIA} AT Al Fte, Aok A FtE,

(At} Aot Al I =AU FRHL. gote. TAgM FRM]. EATA AT, at a library, at



the library, okay? EAJOlA FEQ. TAIN AR}, (ATOA} EZAjofA], T o], AMgtistuoy

(AETetno} & A2)2, 2 A=) 2 AR, M2TistRold (H2ThetaoA} Seouldachakgyoeseo, {A2THST2fIA}
IITM oA, {IITM ©°|A} Chennaieseo, {FILIo]oflA} ALoloflA], (HILtoJo]A} geukjangeseo, {=olAl}

AN, (AN} jibeseo, {HOIAM} HollK, {HolA}, haksaengsikdangeseo, {SHFAITOIAL SHgAIT o)A,

{SHYAIFOIM} doseogwaneseo, (=AM} ZATOA, {ZATO|A]} of], Agojg Aol T ATofA],

Now we will move on to the last grammar item of unit three, okay? ot oF 9k 9t verb, right? V is a verb
here. AL, We say &AL, dongsa, verb. QF @t QF QF, Th32o], QF, Tl H, QF QF QF QF QF, AJ2}, {QF QF QF QF QH} Can
you see my gesture? Ah okay. So now you can assume what it is, right? Qt €+ QF 9F QF AJ2F (QF QF QF oF Qhy
9t is used to negate a verb, okay? Okay. By using ¢t we can make the verb negative. Got it? 4 4], Iigo}29
Y| 4, ¢F is placed in front of the verb. OK. In front of the verb, this is important, okay? Let's see. Z11&,
Z17E OK. You can see 2175 QHL}Q, ThlQ It's positive, right? Positive sentence. But a negative sentence?
£ LS QF §ILtQ) chingureul an mannayo, XS ¢

4. OV, Wi, oK. dolz Heler W78 o Wiar doiz
FE <117 o Mo, o289 [ don't I don’t meet my friends. Okay.
ALE, d2? 9 ILE & WtR? 48? Busy?

»‘9F is used to negate a verb.

»F is placed in front of the verb. v}l 2 (bappayo), HHEER. I'm busy studying. Right?
o) - :17=(eehte. 015;& FRstLaf Hpgte 3L Qb Rk, oF Bhte. OK. Next
B e 2ojg Qhelole, am  one So here O RIER, Wk Bhia, Shich e,

. 28597~ ojle, 2 ot 5g. OK. Second sentence. HHF A= HH: K= 171§,

gogireul an meogeoyo. 117].. What is 117|? Meat, meat.
OK. 2715 ¢F Hojg 17|15 ¢F Hoje <t Ho|Q Okay. HolQ, Ho|Q. ¢t HolQ(an meogeoyo),
O

=
HolQ(meogeoyo), HolQ, ¢t Ho|_. OK. M}, HMoje ¢F HojQ T} 0], Let's try. Meokda, meogeoyo, an
meogeoyo, A2}, {HCt Hoje oF Mol Az, (BTt Hojg o Hoje} gt ¥ ¢, (Mt Hojg o Hoje) Hc
HojQ ot MojQ OK. A3o]Q. How about drink, to drink? You remember that? OFA|CE masida, ML,
masyeoyo, BFAQ, an masyeoyo, THA| SHH, {(OIA|CH OpAq Q) QF mpd Q) @ ABHolQ  Next one, 35127
gongbuhaeyo? o2, 35 ¢ 82, ThA| $Hl, JHER2 {olL]R, FR R} R I FR. ot 8, 5T, 5018,
to play, =°t8, &0l2. OK? ofL, 35 ¢ 812, jeo jigeum norayo, &OIL, okay? To play, to play is =T},
nolda, =0}, =T} norayo. &°F8, -0tL2. You remember -OF L, right? &0F2, £0}2. T, FE5Q, of2{2?
ofL]g, FHE ¢FslR, mote, th], FH}R7 {oh]_, FEQt&iQ.} EotR, =ot8, =0l okay, £0}8. It's easy,
right? #1922 Y Y 4], 2]¥ &(swiwoyo). OK, easy, easy. 0t 1.

When negating a verb constructed from noun plus 8T}, ¢t is never placed before the noun, okay? That's

what you are saying, huh? Okay, it is inserted between the noun and 3}t}. Okay, so did you see 355}t



noun plus S}C}, right? Noun plus S}C}, one example is N
p g p p X %Ej +'b"cl' y = x( 0: 5‘5“1

» When negating a verb constructed from

where can we put ¢ here? Here, just a sec. ¢ 353}C} +', ‘OF is never placed before
the

or ZE Ot 8lt}? (ZE ok 5}thy Where, where? In front r}OI;n}.‘ It is inserted between the noun
and ‘Sfcp’, Vi
of, in front of, in front of the noun? Or in the middle? 2l st

N b, ol shc}
{In the middle} OK that's right. OK so &5 ¢t 3jc}, 358 o)) AE]E X ?ﬁiﬂﬂ- ¢ ..~

FE noun, right? Z&, noun, plus 3T}, okay. And then

QtoiT, FE Qtsle, FE e, 7 AR, OK, let's
see. So you remember =F3IC}? &F, 25 is actually
noun. &5 plus 3ttt £5-51ch SEHR, right? LS8, b

25908 So, should we say ¢t 258 or 25 A M_? {5 ¢t 8lR.} That's right. & ¢ 318, 25 ¢t al8.
Not this one. Hgote? |, AEJE K= 25 ¢ 318 FoJ2 H 88, 52|22 Steven doesn't exercise, okay. AE|E
HNe 25 A sle, AEE K= &5 Q38 4], ol ABAL|TE How about L2i8iL? ks, kaf, k=i,
L 23}t right, noraehada, 2SIt} is “to sing a song’, okay? X2l k2lisich afdic) el Qt k2, k2
QF 822 {Norae an haeyo.} OK. t 2lisiQ, 2l oF 82 {2l ¢t 3.} right? Here. OK. 2l Qt 3L, TIA],
Lafstet, k2f ¢t 82, OK. How about ¥&}rt? ¢t Lafe, & <t 8122 (¥ 9k 2.} Fol8, il an haeyo, ¥ ¢t
of 8, o Zo] A}, A gt aie, {2 ¢t a8}, OK. of=2H}O|E &jt}? of2H}o|E ¢t 3@, ¢F 3], T}HA], areubaiteu
hada, O}2H}0|E QI 8 Q o}2H}o|E ¢t &1Q OK, € ¢t 81, k2 ¢F 318, areubaiteu an haeyo, 35 ¢ 32,
25 a8, OK, Qtalg, F 8l .. Very good. U], Z3}olQ.

PO We Can Do It Together!! ﬁb.ﬁ; | We Can Do It Together! g
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Now we can have this activity, right? We can do it together. So, I'm going to ask you a question. First of all,
you can answer in this way, okay? You can see your answer here. But later you should answer with your

free answer. Is it okay for you? U], £0}8. So first question. So you can ask me first, you know, g5t L.
23 (gyosuni), right? QPSHNIQ. W4, This is greeting. Anyway anyway, let's go. The first one. G2 &,
Hu|E 01422 {4} But this answer first, okay? ©IL]|Q. This answer first. {O}L]2} ol A= (AT E o
0t Q) A= ATE ¢t ot AHE, (XS 0t L} Chai chai, okay. AHS OFH L, chareul masyeoyo. OK. THA]
SHH oj2{E u|E npMR? Y|, (o8 A= TS ¢ otMR. .} ZHE 0P R. Now answer in your way your free



answer. 92|12, Z|T] 014 22 (4], AT E 0tM 2, AT E b4 R} of AT E 0t 2?2 0lL| 8 any OFL]R? AT 0t Q2
ofL]2, AHu| ¢k 0p4 22 QF OtA L. You can also drop £/, in spoken language, okay? So you can say °L]L,
2= Au| ¢t 0t L, keopi an masyeoyo, &} BFM R, chareul masyeoyo, 2} BFA R, okay. Or Y] A HI| 0}-qQ,
] 0tq ., 8t20]|(harue) M| 2t Ot Three cups. 320 A ZF 0t A Zk(se jan), 520 means a day, a
day. S} Al & 0t4 R, 5tR0f F 2t opA e, AT|, AT] Fofsl e, AHu| Fotsle, 1] uf4 ., okay. U], FotL.
Next one. 92|82, 17] Ho|Q97 17] gogi, 17| Ho|R? {o[L|R A& 17]E QF HolR } This one? AR},
sounds a little bit difficult, right? ZAF2|Z}(chaesikjuuija), HAFLR}, (AHAIFQJAL  chaesikjuuija,
(AR FOJRbY | JAIFOJR} vegetarian, vegetarian, AAIFQ)Ato] R, AIF|R[]| Q. Sounds very hard right? Is it?
OK, ZHAI:e|zt, AJ2Y, (AHAI:0|2t) &) O, AjAI )R}, (AHAIROR}). Who is chaesikjuuija? 7t A2t 2.2
& S0]HA|.(sondeureo boseyo), 2 S, Sh(han) B, F(du) B, Al(se) F, Yl(ne) F, tHl(daseot) T, THA T,
CH %82 Only five, TH B, W] Hi2IAIR, Wi2|H| L. A Fetdle, AAlzejzt. OK. ATt AAlRelzt,
CEA] A|2E ZjAIR0)2E, (RAIFOJAL chaesikjuuija, {AHAIFC]AL) okay. So OK, free answer. 17|15 0|27 of2| &,
7] HojQ? (Y], A= 17].} Y] HolQ of]Q oF Holg & 17| 9 HojQ FJAIFOJAIM L. You can ask me
this question. X4H2 {117]5 Ho|R2} OK. But in an honorific way you have to say like 24'H2 17]&
EA|8, EAR? But it's difficult okay, that's Korean Two level, Korean Two level okay anyway. U, 2}= 17|15
Ho|Q AAIFoJz} ofL]ofl@, 2 Hoje A Hoj@ t} & HolQ r} all everything, TF & Ho]Q, okay. So let's
practice, A1 TR}, again HAIFQE, A2, (AL (AR} (AR ], FotL.
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23 A H A WA The third question. 928, TA0lS ZTHI| Q9 TafAolE ZHF Q7 (of]Q, At |2}

JH35Q2 $t2o](hangugeo)s SH L, of2|E TFAOE (peurangseueoreul) FEIL? {ofL|Q, A=
A2 StolE FHoR.} 2, Ago|Q, Al ¥, number four, FFEZALE B12? Y|, {Hangukdeuramahago}
ST ajnjsta gatE Bo] Bhe To] To] alot, a lot, B0, a lot, a lot, okay? &0], T}320], To] A2} Blo] Tlo]
o], okay. §H= E2hnjsta @3 Bo] BlQ . OK. If you don't watch K-drama, how can you answer? Sj2|£,
gtz cafntg Bteoof|Q, (..} Qh Bt ghotQ ok QtHEQ of|Q Jeoneun Hanguk deuramareul an bwayo,
ot et ThA], of2]R, gh= E2inf ¥tR? o2, A& 3t E2tItE ¢ BtR. OK. If your answer is yes, Y], &=



Cajnsty gk Eefnbg BlQ HlQ. OK. So, what is your free answer? oj2|&2 gt tajn} BlQ? (4]} 4.
Someone said Y|. Y. Okay. Someone said no. ©fL]2. Okay. Y|, £ot8. 2|2 3tz g3} ¥Q? Hanguk
yeonghwa bwayo? {U|} U] 4|, okay. €Zo|2, LAELICE, £0I2. Next one. EjUE, EiHL, EfEE, okay,
A S iR ? =S Bl R? (oh L.} oht] . qhuligl e SIA|T, hx|T, 21 Aoje. v 2 AHoje. Sx|qt,
but, but I want to learn it, okay? S}X|%, baeugo sipeoyo. OK so you ask me. Taegwondoreul? {EjEEE}
ChA] &HH, (B E Higa?) ok, <t HiYR, SHA|T, H™(jeongmal) Bl AlojQ, Hi®X Aoj8, yap...

something something okay? Baeugo sipeoyo, -1 4loj2 4], Fo}Q.
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And then next one. 258187 2|8 25827 25322 (4]} ofL]R, €5 9HR2 Undong anhaeyo? &% ¢t
Q2 o=|8, 255122 (U]} 4, this one, MY, MY (maeil), Y means every day, every day. Ii¥ 25318,
MY 2&308. THA, 22 250122 318, ¢t ei_? 2538, ¢ al’? (Ne} ¢ alig, o7]= ¢t 3, o7]=3fig.
4 27], EoFL. Next one. Y], 2(7) ¥, ¥ AZ2 o8, Y|, Hanguk sinmuneul ilgeoyo? {of]2} of]L,
9k 9lojQ. Instagram EL... BHolQ? Isn't this reality? Y] U], Z&? Zol? OK, TIA], A&, A2 is newspaper,
right? Newspaper. CJ2]&, 3t AZE Qloje? oh]e. o Qloje, o ¢lojQ. (Inseutageuraem bwayo.}
Instagram 512, B} B} Ete U], AFole o2iE u] Aol Agoja |, Aol t} o] ALy, Ao,
jalhaesseo. 3o}, Zglio] Zglo]Q o}z ZAgHo|Q You did a
great job.

That's all for today. Time is already over, right? OK. $2]
J2H QIAISEY E0FAQ (kkeunmachyeoyo), %2|E. Our
greeting, ending-greeting is ZFAFILICE, right? ZAARH|TH
Thank you. OK. AR}, ZARLICE (ZHARILCH) Qs
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